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[ 2]
F = 9.65x10*[C/mol] R=8.32[)mol K)]

aA+bB =cC+dD (1)
C D A
AG
A B C D
TITTATANTS A/BCD M, g G 4D
a5 85,8, 8
(14 = 1 + RTIna,
=ud +RTIn
|Hc = Hc + RTIna.
[MD =Mg +RTlIna,
AG=(C/,LC+duD)—(auA+b/,LB)=AGO+RTIn (©)]
a(i=AB,C,D) v.(i = AB,C,D)
x.(i = A B,C,D)
y.(i=ABCD)=1 Raoult x.(i = A B,C,D)
D
3 AE Nernst
AE,
AE=—§=AEO—E|n (4)
nF nF




(1) AG=0
AG,=-nFAE, (1) K
1 atm, 298K
Cu** +2e =Cu : AE, = 0.337V
Fe’* +e =Fe* ' AE, = 0.77V (5
[Ag+ +e =Ag : AE, = 0.800V
A AG, K
Fe* Fe*
100g 1 atm, 298K
K
2
1 atm, 298K
C Ag*, Fe*, Fe* [Ag+]O
[Fe™]  [Fe™], 0.5mol/l, 0.0mol/l, 0.5mol/l
K [Ag'] [Fe*] [Fe”]



